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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3522 ±Constant = 3.254 

 0.6936 ±Mean     =   119 

 0.4904 ±Sigma    = 7.847 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3522 ±Constant = 3.254 

 0.6936 ±Mean     =   119 

 0.4904 ±Sigma    = 7.847 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3422 ±Constant = 3.162 

 0.7136 ±Mean     = 117.6 

 0.5046 ±Sigma    = 8.074 
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 0.3422 ±Constant = 3.162 

 0.7136 ±Mean     = 117.6 

 0.5046 ±Sigma    = 8.074 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3281 ±Constant = 3.031 

 0.7447 ±Mean     = 119.6 

 0.5265 ±Sigma    = 8.425 
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 0.3281 ±Constant = 3.031 

 0.7447 ±Mean     = 119.6 

 0.5265 ±Sigma    = 8.425 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3538 ±Constant = 3.269 

 0.6904 ±Mean     = 118.7 
 0.4882 ±Sigma    = 7.811 
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 0.3538 ±Constant = 3.269 

 0.6904 ±Mean     = 118.7 
 0.4882 ±Sigma    = 7.811 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3511 ±Constant = 3.243 

 0.6958 ±Mean     =   119 
 0.492 ±Sigma    = 7.872 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3511 ±Constant = 3.243 

 0.6958 ±Mean     =   119 
 0.492 ±Sigma    = 7.872 

Vt50 (mV)70 80 90 100 110 120 130 140 150 160

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.326 ±Constant = 3.011 

 0.7494 ±Mean     = 119.6 
 0.5299 ±Sigma    = 8.479 
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 0.326 ±Constant = 3.011 

 0.7494 ±Mean     = 119.6 
 0.5299 ±Sigma    = 8.479 
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 2.528 ±Constant = 23.35 
 0.09665 ±Mean     = 52.56 
 0.06834 ±Sigma    = 1.094 

Chip 0 Gain at 2.00fC Nent = 128    

 2.528 ±Constant = 23.35 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.344 ±Constant = 21.65 
 0.1042 ±Mean     = 52.23 
 0.07369 ±Sigma    = 1.179 

Chip 1 Gain at 2.00fC Nent = 128    

 2.344 ±Constant = 21.65 
 0.1042 ±Mean     = 52.23 
 0.07369 ±Sigma    = 1.179 
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 2.629 ±Constant = 24.29 
 0.09292 ±Mean     = 51.64 
 0.0657 ±Sigma    = 1.051 
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 2.629 ±Constant = 24.29 
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 0.0657 ±Sigma    = 1.051 
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  2.55 ±Constant = 23.56 
 0.0958 ±Mean     = 53.16 

 0.06774 ±Sigma    = 1.084 

Chip 3 Gain at 2.00fC Nent = 128    
  2.55 ±Constant = 23.56 

 0.0958 ±Mean     = 53.16 

 0.06774 ±Sigma    = 1.084 
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  2.69 ±Constant = 24.85 

 0.0908 ±Mean     = 52.71 

 0.0642 ±Sigma    = 1.027 

Chip 4 Gain at 2.00fC Nent = 128    
  2.69 ±Constant = 24.85 

 0.0908 ±Mean     = 52.71 

 0.0642 ±Sigma    = 1.027 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.098 ±Constant = 19.38 

 0.1165 ±Mean     = 52.23 

 0.08234 ±Sigma    = 1.318 

Chip 5 Gain at 2.00fC Nent = 128    
 2.098 ±Constant = 19.38 

 0.1165 ±Mean     = 52.23 

 0.08234 ±Sigma    = 1.318 
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Chip 0 Extrapolated Offset Nent = 128    
 1.213 ±Constant = 11.21 

 0.6444 ±Mean     =    14 
 0.4557 ±Sigma    = 7.291 

Chip 0 Extrapolated Offset Nent = 128    
 1.213 ±Constant = 11.21 

 0.6444 ±Mean     =    14 
 0.4557 ±Sigma    = 7.291 
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Chip 1 Extrapolated Offset Nent = 128    
  1.23 ±Constant = 11.36 

 0.6356 ±Mean     =  13.2 
 0.4494 ±Sigma    = 7.191 

Chip 1 Extrapolated Offset Nent = 128    
  1.23 ±Constant = 11.36 

 0.6356 ±Mean     =  13.2 
 0.4494 ±Sigma    = 7.191 
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Chip 2 Extrapolated Offset Nent = 128    
 1.069 ±Constant = 9.879 

 0.731 ±Mean     = 16.94 
 0.5169 ±Sigma    =  8.27 

Chip 2 Extrapolated Offset Nent = 128    
 1.069 ±Constant = 9.879 

 0.731 ±Mean     = 16.94 
 0.5169 ±Sigma    =  8.27 
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 1.128 ±Constant = 10.42 
 0.6928 ±Mean     = 12.17 
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 1.128 ±Constant = 10.42 
 0.6928 ±Mean     = 12.17 
 0.4899 ±Sigma    = 7.838 
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 1.193 ±Constant = 11.02 
 0.6553 ±Mean     = 13.32 
 0.4633 ±Sigma    = 7.413 

Chip 4 Extrapolated Offset Nent = 128    

 1.193 ±Constant = 11.02 
 0.6553 ±Mean     = 13.32 
 0.4633 ±Sigma    = 7.413 
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Chip 5 Extrapolated Offset Nent = 128    

 1.028 ±Constant = 9.495 
 0.7605 ±Mean     = 15.18 
 0.5378 ±Sigma    = 8.605 

Chip 5 Extrapolated Offset Nent = 128    

 1.028 ±Constant = 9.495 
 0.7605 ±Mean     = 15.18 
 0.5378 ±Sigma    = 8.605 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 5.247 ±Constant = 48.47 

 3.104 ±Mean     =  1553 

 2.195 ±Sigma    = 35.12 

Chip 0 Input Noise at 2.00fC Nent = 128    
 5.247 ±Constant = 48.47 

 3.104 ±Mean     =  1553 

 2.195 ±Sigma    = 35.12 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 3.555 ±Constant = 32.84 

 4.581 ±Mean     =  1590 

 3.239 ±Sigma    = 51.83 

Chip 1 Input Noise at 2.00fC Nent = 128    
 3.555 ±Constant = 32.84 

 4.581 ±Mean     =  1590 

 3.239 ±Sigma    = 51.83 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.511 ±Constant = 41.67 

  3.61 ±Mean     =  1578 

 2.553 ±Sigma    = 40.85 

Chip 2 Input Noise at 2.00fC Nent = 128    
 4.511 ±Constant = 41.67 

  3.61 ±Mean     =  1578 

 2.553 ±Sigma    = 40.85 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 5.168 ±Constant = 47.74 
 3.151 ±Mean     =  1524 
 2.228 ±Sigma    = 35.65 

Chip 3 Input Noise at 2.00fC Nent = 128    

 5.168 ±Constant = 47.74 
 3.151 ±Mean     =  1524 
 2.228 ±Sigma    = 35.65 
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 5.008 ±Constant = 46.26 
 3.253 ±Mean     =  1534 
   2.3 ±Sigma    =  36.8 

Chip 4 Input Noise at 2.00fC Nent = 128    

 5.008 ±Constant = 46.26 
 3.253 ±Mean     =  1534 
   2.3 ±Sigma    =  36.8 
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 4.317 ±Constant = 39.88 
 3.773 ±Mean     =  1566 
 2.668 ±Sigma    = 42.68 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.317 ±Constant = 39.88 
 3.773 ±Mean     =  1566 
 2.668 ±Sigma    = 42.68 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3448 ±Constant = 3.171 

 0.7117 ±Mean     = 119.3 

 0.5037 ±Sigma    = 8.052 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3448 ±Constant = 3.171 

 0.7117 ±Mean     = 119.3 

 0.5037 ±Sigma    = 8.052 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3699 ±Constant = 3.417 

 0.6605 ±Mean     = 117.4 

 0.467 ±Sigma    = 7.472 
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 0.3699 ±Constant = 3.417 

 0.6605 ±Mean     = 117.4 

 0.467 ±Sigma    = 7.472 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3523 ±Constant = 3.254 

 0.6936 ±Mean     = 118.5 

 0.4904 ±Sigma    = 7.847 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3523 ±Constant = 3.254 

 0.6936 ±Mean     = 118.5 

 0.4904 ±Sigma    = 7.847 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3368 ±Constant = 3.111 

 0.7254 ±Mean     = 122.1 
 0.5129 ±Sigma    = 8.207 
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 0.3368 ±Constant = 3.111 

 0.7254 ±Mean     = 122.1 
 0.5129 ±Sigma    = 8.207 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1495 ±Constant = 1.334 

 1.739 ±Mean     = 61.15 
 1.412 ±Sigma    = 19.16 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1495 ±Constant = 1.334 

 1.739 ±Mean     = 61.15 
 1.412 ±Sigma    = 19.16 
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 0.3396 ±Constant = 3.137 

 0.7194 ±Mean     =   121 
 0.5087 ±Sigma    = 8.139 
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 0.3396 ±Constant = 3.137 

 0.7194 ±Mean     =   121 
 0.5087 ±Sigma    = 8.139 
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 2.704 ±Constant = 24.98 
 0.09034 ±Mean     = 52.45 
 0.06388 ±Sigma    = 1.022 
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 2.704 ±Constant = 24.98 
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 2.482 ±Constant = 22.93 
 0.09842 ±Mean     =  52.2 
 0.06959 ±Sigma    = 1.114 
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 2.215 ±Constant = 20.46 
 0.1103 ±Mean     = 53.82 
 0.078 ±Sigma    = 1.248 
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Chip 3 Gain at 2.00fC Nent = 128    
  2.37 ±Constant = 21.89 

 0.1031 ±Mean     = 53.55 

 0.0729 ±Sigma    = 1.166 
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 0.3034 ±Constant = 2.788 

 0.8142 ±Mean     = 28.53 

 0.5882 ±Sigma    = 9.166 
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 2.261 ±Constant = 20.89 

 0.108 ±Mean     =  54.8 

 0.07639 ±Sigma    = 1.222 
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 0.07639 ±Sigma    = 1.222 
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 1.193 ±Constant = 11.02 
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  1.09 ±Constant = 10.07 
 0.7172 ±Mean     =    15 

 0.5071 ±Sigma    = 8.114 
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 0.9589 ±Constant = 8.858 
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 1.094 ±Constant = 10.11 
 0.7146 ±Mean     = 11.12 
 0.5053 ±Sigma    = 8.084 
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  2.93 ±Mean     =  1582 

 2.072 ±Sigma    = 33.15 
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 5.393 ±Constant = 49.82 

  3.02 ±Mean     =  1570 

 2.135 ±Sigma    = 34.17 

Chip 1 Input Noise at 2.00fC Nent = 128    
 5.393 ±Constant = 49.82 

  3.02 ±Mean     =  1570 

 2.135 ±Sigma    = 34.17 
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 4.167 ±Constant =  38.5 

 3.908 ±Mean     =  1514 
 2.763 ±Sigma    = 44.22 
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 2.763 ±Sigma    = 44.22 
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 4.467 ±Constant = 41.26 
 3.646 ±Mean     =  1547 
 2.578 ±Sigma    = 41.25 
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 1.364 ±Constant =  12.6 
 11.94 ±Mean     =  1375 
 8.445 ±Sigma    = 135.1 
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 8.445 ±Sigma    = 135.1 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.086 ±Constant = 37.75 
 3.986 ±Mean     =  1529 
 2.818 ±Sigma    = 45.09 
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 4.086 ±Constant = 37.75 
 3.986 ±Mean     =  1529 
 2.818 ±Sigma    = 45.09 
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